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TAMPA CX

P1 Lances 1 a 3

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

P1 Lances 1 a 3

     50A   1    20      4    360    1440

     50A   2    20      4    180     720

     50A   3     6.3    31     82    2542

     50A   4    12.5     4    150     600

     50A   5    10      4     97     388

     60B   6     5      9     81     729

     50A   7     6.3     7     82     574

P2 Lance 1

     50A   1    16      4    277    1108

     50A   2    16      4    164     656

     50A   3     6.3    30     82    2460

P3 Lance 1

     50A   1    16      4    277    1108

     50A   2    16      4    164     656

     50A   3     6.3    30     82    2460

P4 Lance 1

     50A   1    16      4    277    1108

     50A   2    16      4    164     656

     50A   3     6.3    30     82    2460

P5 Lances 1 a 3

     50A   1    20      4    360    1440

     50A   2    20      4    180     720

     50A   3     6.3    31     82    2542

     50A   4    12.5     4    150     600

     50A   5    10      4     97     388

     60B   6     5      9     81     729

     50A   7     6.3     7     82     574

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

      15       2    5       60B

     136      33    6.3     50A

       8       5   10       50A

      12      12   12.5     50A

      53      84   16       50A

      43     107   20       50A

Peso Total        60B =       2 kg

Peso Total        50A =     240 kg

TITULO

DATA ESCALA DESENHO VERIF. ENG .

o

CLIENTE

OBRA

OBRA N .

o

DES. N .

o

o

REV. N .

FCK

0001

REITORIA 

WC GABINETE

02/09/2019 Indicada

P1 Lances 1 a 3

P2 Lance 1 / P3 Lance 1

P4 Lance 1

P5 Lances 1 a 3

00

250

B1

(ESCALA 1:25) 8 x

50

5
0

B
B

A A

PLANTA

30

30

4
0

5

CORTE  A - A

15

3
5

5

CORTE  B - B

2
8

42

2
N
1

2 N1 Ø 10C=163

2
9

42

2 N2

2 N2 Ø 10C=165

4
4

4
4

3
N
3

C
/
1
5

3
N
3

C
/
1
5

3 N3 Ø 5C/15 C=191

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

B1   (X8)

     60B   1     5     24    191    4584

     50A   2    10     16    163    2608

     50A   3    10     16    165    2640

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

      46       7    5       60B

      52      32   10       50A

Peso Total        60B =       7 kg

Peso Total        50A =      32 kg


